
https://www.pass4itsure.com/712-50.html
2024 Latest pass4itsure 712-50 PDF and VCE dumps Download

 

 

 

712-50Q&As

EC-Council Certified CISO (CCISO)

Pass EC-COUNCIL 712-50 Exam with 100%
Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/712-50.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by EC-
COUNCIL Official Exam Center

 

 

712-50 VCE Dumps | 712-50 Study Guide | 712-50 Braindumps                                1 / 3

https://www.pass4itsure.com/712-50.html
https://www.pass4itsure.com/712-50.html
https://www.pass4itsure.com/712-50.html


https://www.pass4itsure.com/712-50.html
2024 Latest pass4itsure 712-50 PDF and VCE dumps Download

QUESTION 1

A CISO must conduct risk assessments using a method where the Chief Financial Officer (CFO) receives impact data in
financial terms to use as input to select the proper level of coverage in a new cybersecurity insurance policy. What is the
MOST effective method of risk analysis to provide the CFO with the information required? 

A. Conduct a quantitative risk assessment 

B. Conduct a hybrid risk assessment 

C. Conduct a subjective risk assessment 

D. Conduct a qualitative risk assessment 

Correct Answer: A 

 

 

QUESTION 2

Scenario: You are the newly hired Chief Information Security Officer for a company that has not previously had a senior
level security practitioner. The company lacks a defined security policy and framework for their Information Security
Program. Your new boss, the Chief Financial Officer, has asked you to draft an outline of a security policy and
recommend an industry/sector neutral information security control framework for implementation. 

Your Corporate Information Security Policy should include which of the following? 

A. Roles and responsibilities 

B. Information security theory 

C. Incident response contacts 

D. Desktop configuration standards 

Correct Answer: A 

 

QUESTION 3

Which of the following best represents a calculation for Annual Loss Expectancy (ALE)? 

A. Value of the asset multiplied by the loss expectancy 

B. Replacement cost multiplied by the single loss expectancy 

C. Single loss expectancy multiplied by the annual rate of occurrence 

D. Total loss expectancy multiplied by the total loss frequency 

Correct Answer: C 
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QUESTION 4

As a new CISO at a large healthcare company you are told that everyone has to badge in to get in the building. Below
your office window you notice a door that is normally propped open during the day for groups of people to take breaks
outside. Upon looking closer, you see there is no badge reader. 

What should you do? 

A. Post a guard at the door to maintain physical security 

B. Close and chain the door shut and send a company-wide memo banning the practice 

C. A physical risk assessment on the facility 

D. Nothing, this falls outside your area of influence 

Correct Answer: C 

 

QUESTION 5

A bastion host should be placed: 

A. Inside the DMZ 

B. In-line with the data center firewall 

C. Beyond the outer perimeter firewall 

D. As the gatekeeper to the organization\\'s honeynet 

Correct Answer: A 
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